



City of West Allis Matter Summary 7525 W. Greenfield Ave. West Allis, WI 53214

File Number		Title Status										
R-2008-0056		Resolution		In Committee								
		Resolution to approve bid of C.W. Purpero, Inc. for sanitary sewer relays, sanitary spot relays, sanitary spot lining, sanitary sewer lining and storm sewer lining in various locations within the City of West Allis, in the amount of \$972,644.25.										
		Introduced: 3/4/2008		ing Body: Publ	iblic Works Committee							
		Sponsor(s): Public Works Committee										
COMMITTE	E RECOM	IMENDATION_	ADOPT									
	MOVE	R SECONDER		AYE	NO	PRESENT	EXCUSED					
ACTION			Barczak		110	TRESERT	EACUSED					
DATE:	_		Czaplewski	-			La sur la company					
3-4-08	- V		Dobrowski Kopplin									
			Lajsic									
			Narlock									
			Reinke									
	-	<u>-</u>	Sengstock Vitale	~								
			Weigel									
			TOTAL	4			1					
SIGNATURE	OF COMM	ПТТЕЕ МЕМВЕ										
9/60	have	<u>u</u>										
Chair		Vice-0	Chair	Meinber								
COMMON CO	DUNCIL A	CTION		DOPT								
	MOVER	R SECONDER	Г	AYE	NO	DDECENT	Tri Gricono					
ACTION		BECOMBER	Barczak	AIL	NO	PRESENT	EXCUSED					
DATE:			Czaplewski	1								
1AR 0 4 2008			Dobrowski	1								
			Kopplin	/								
	1		Lajsic Narlock	1								
			Reinke	1								
			Sengstock ·									
			Vitale	/								
			Weigel									

TOTAL



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2008-0056

Final Action:

MAR 0 4 2008

Sponsor(s):

Public Works Committee

Resolution to approve bid of C.W. Purpero, Inc. for sanitary sewer relays, sanitary spot relays, sanitary spot lining, sanitary sewer lining and storm sewer lining in various locations within the City of West Allis, in the amount of \$972,644.25.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of C.W. Purpero, Inc. for 2008 Project No. 3 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of C.W. Purpero, Inc. for 2008 Project No. 3:

Sanitary Sewer Relays, Sanitary Spot Relays, Sanitary Spot Lining, Sanitary Sewer Lining and Storm Sewer Lining in various areas within the City of West Allis (Plan File No(s). S-1334, S-1335, S-1336, S-1337, S-1338, S-1339, S-1340, S-1341, S-1342, S-1343, S-1344, S-1345, S-1346, S-1347, S-1348, X-781, X-782, X-783, X-784, X-785, X-786, X-787)

for the sum of Nine hundred seventy-two thousand, six hundred forty-four dollars and twenty-five cents (\$972,644.25)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds and Storm Water Management Funds.

ADOPTED

MAR 0 4 2008

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED March 7 7008

Clannette Bell

CITY OF WEST ALLIS 2008 Project No. 3 Bid Opening - 2/28/08

SANITARY SEWER RELAYS, SANITARY SPOT RELAYS, SANITARY SPOT LINING, SANITARY SEWER LINING AND STORM SEWER LINING

Various Locations within the City of West Allis

		Bid Bond 5%		Bid Bo	ond 5%	Bid Bond 5%	Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		C.W. Purpero, Inc. 5770 S. 13th St. Milwaukee WI 53221		Underground Pipeline Construction, Inc. 2180 S. Springdale Rd. New Berlin, Wi 53146		American Sewer Services, Inc. N2768 County Road P Rubicon, WI 53078	Rawson Contractors P.O. Box 566 Sussex, WI 53089		Globe Contractors, Inc. N50 W23076 Betker Rd. Pewaukee, Wi 53072		MJ Construction, Inc. 8617 W. Kaul Ave. Milwaukee, WI 53225		Mainline Sewer & Water, Inc. 11430 W. Bluemound Rd. Wauwatosa, Wi 53226	
ITEM I	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 8" Dia. Sanitary Sewer Relay	4.255 lin. ft.	101.75	432,946.25	130.00	553,150.00	Unresponsive Bid	153.00	651.015.00	136.00	578,680.00	145.00	616,975.00	175.00	744.625.00
2 10" Dia. Sanitary Sewer Relay	42 lin. ft.	383.00	16,086,00	172.00	7,224.00	C.mooponomo C.c.	230.00	9,660.00	370.00	15,540.00	520.00	21.840.00	625.00	26,250.00
3 12" Dia. Sanitary Sewer Relay	370 lin. ft.	120.00	44,400.00	188.00	69,560,00		177.00	65,490.00	184.00	68,080.00	177.00	65,490,00	189.00	69,930.00
4 8" Dia. Sanitary Sewer Lining	299 lin. ft.	28.50	8,521.50	29.00	8,671.00		28.25	8,446.75	32.00	9,568.00	31.00	9,269.00	32.00	9,568.00
5 12" Dia. Storm Sewer Lining	10 lin. ft.	333.00	3,330.00	340.00	3,400,00		330.00	3.300.00	340.00	3,400.00	363.00	3,630.00	369.00	3,690.00
6 3'-6" Dia. Sanitary Manhole (32)	355 vert. ft.	316.00	112,180,00	290.00	102.950.00		220.00	78.100.00	220.00	78,100.00	265.00	94.075.00	231.00	82,005.00
7 3'-6" Dia. Sanitary O.D. Manhole (4)	62 vert. ft.	380.00	23,560.00	299.00	18,538.00		200.00	12,400.00	500.00	31,000.00	320.00	19,840.00	239.00	14,818.00
8 Sanitary Manhole Adjustment (6)	12 vert. ft.	280.00	3,360.00	366.00	4,392.00		300.00	3,600.00	200.00	2,400.00	400.00	4,800.00	780.00	9,360.00
9 8" Sanitary Spot Relay	8 units	3,550.00	28,400.00	5,790.00	46,320.00		4,500.00	36,000.00	3,600.00	28,800.00	5,600.00	44,800.00	6,800.00	54,400.00
10 10" Sanitary Spot Relay	5 units	3,300.00	16,500.00	5,870.00	29,350.00		5,000.00	25,000.00	3,700.00	18,500.00	4,300.00	21,500.00	7,100.00	35,500.00
11 8" Sanitary Spot Lining	9 units	2,170.00	19,530.00	2,217.00	19,953.00		2,150.00	19,350.00	2,300.00	20,700.00	2,365.00	21,285.00	2,300.00	20,700.00
12 12" Sanitary Spot Lining	1 unit	3,030.00	3,030.00	3,090.00	3,090.00		3,000.00	3,000.00	3,100.00	3,100.00	3,300.00	3,300.00	3,050.00	3,050.00
13 Sanitary Manhole Abandonment	6 units	608.00	3,648.00	600.00	3,600.00		500.00	3,000.00	500.00	3,000.00	800.00	4,800.00	1,050.00	6,300.00
14 8" Sanitary Sewer Bulkhead	1 unit	190.00	190.00	344.00	344.00		325.00	325.00	200.00	200.00	500.00	500.00	155.00	155.00
15 12" Sanitary Sewer Bulkhead	2 units	190.00	380.00	344.00	688.00		331.41	662.82	200.00	400.00	500.00	1,000.00	155.00	310.00
16 6" Dia. Building Sanitary Sewer (3)	42 lin. ft.	230.00	9,660.00	110.00	4,620.00		150.00	6,300.00	150.00	6,300.00	450.00	18,900.00	172.00	7,224.00
17 6" Dia. Sanitary Sewer Riser (12)	67 vert. ft.	45.00	3,015.00	122.00	8,174.00		150.00	10,050.00	150.00	10,050.00	100.00	6,700.00	48.00	3,216.00
18 Sanitary Reconnect	175 units	60.00	10,500.00	40.00	7,000.00		100.00	17,500.00	500.00	87,500.00	100.00	17,500.00	175.00	30,625.00
19 Re-establish Sanitary Service Connection	7 units	405.00	2,835.00	414.00	2,898.00		400.00	2,800.00	420.00	2,940.00	440.00	3,080.00	405.00	2,835.00
20 Temporary 12" Sanitary Sewer Connection	1 unit	1,250.00	1,250.00	3,880.00	3,880.00		2,500.00	2,500.00	1,000.00	1,000.00	1,000.00	1,000.00	2,400.00	2,400.00
21 Buried Concrete Excavation and Disposal	4 cu. yds.	43.00	172.00	1,555.00	6,220.00		250.00	1,000.00	200.00	800.00	500.00	2,000.00	125.00	500.00
22 Type "A" Pavement Replacement	2,850 sq. yds.	49.00	139,650.00	50.00	142,500.00		50.00	142,500.00	48.50	138,225.00	65.00	185,250.00	56.00	159,600.00
23 Type "B" Pavement Replacement	113 sq. yds.	45.50	5,141.50	46.00	5,198.00		45.00	5,085.00	45.00	5,085.00	43.00	4,859.00	37.00	4,181.00
24 Type "C" Pavement Replacement	18 sq. yds.	30.25	544.50	31.00	558.00		50.00	900.00	30.00	540.00	200.00	3,600.00	175.00	3,150.00
25 Hot Mix Asphalt Pavement (Type E-0.3)	82 tons ;	97.00	7,954.00	99.00	8,118.00		96.00	7,872.00	96.00	7,872.00	100.00	8,200.00	95.00	7,790.00
26 H.E.S. Concrete Pavement Replacement	571 sq. yds.	48.50	27,693.50	50.00	28,550.00		45.00	25,695.00	48.00	27,408.00	50.00	28,550.00	45.00	25,695.00
27 Aggregate Slurry Backfill	133 cu. yds.	59.00	7,847.00	48.00	6,384.00		60.00	7,980.00	42.00	5,586.00	50.00	6,650.00	45.00	5,985.00
28 31" Concrete Curb and Gutter	70 lin. ft.	35.00	2,450.00	36.00	2,520.00		35.00	2,450.00	35.00	2,450.00	30.00	2,100.00	28.00	1,960.00
29 5" Concrete Sidewalk	55 sq. ft.	10.00	550.00	11.00	605.00		10.00	550.00	10.00	550.00	10.00	550.00	7.00	385.00
30 Pavement Ties	3,611 units	6.00	21,666.00	7.00	25,277.00		6.00	21,666.00	6.00	21,666.00	6.00	21,666.00	5.75	20,763.25
31 Type "A" Lawn Replacement	95 sq. ft.	6.00	570.00	6.00	570.00		8.00	760.00	12.00	1,140.00	1.00	95.00	6.00	570.00
32 Inlet Protection Barriers	124 units	41.00	5,084.00	40.00	4,960.00		30.00	3,720.00	50.00	6,200.00	10.00	1,240.00	41.00	5,084.00
33 Traffic Control	1 lump sum	10,000.00	10,000.00	5,050.00	5,050.00		10,000.00	10,000.00	12,000.00	12,000.00	5,000.00	5,000.00	20,000.00	20,000.00
			972,644.25	•	1,134,312.00			1,188,677.57		1,198,780.00		1,250,044.00		1,382,624.25